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DEPARTMENTAL EXAMINATIONS

SURVEY DEPARTMENTAL TEST — HEAD DRAUGHTSMAN
TEST — PAPER - 11

(Without Books)

Maximum Time : 2.30 hours | | Maximum Marks : 100

IMPORTANT INSTRUCTIONS

DESCRIPTIVE TYPE
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Read the following instructions carefully before beginning to answer the
questions.
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1. Answers in excess of the prescribed number of questions apﬁearing at the end of the answer
book will not be valued.
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2 In case of doubt, English version is the final.
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3. Candidates should use the special kind of papers provided separately by the commission for
answering the questions in respect of the diagram / Datas entry type. They should not

answer in the printed forms, if any in the question paper.
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1. Compute the Watch time slow or fast from the Azimuth record of observation given.

Answer ALL questions.

simansg damss@Ens@n ede wefEsab.

(25)
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Date of observation : 01.12.1999

Approximate Latitude : N11 39’ 11.63”

- Value of one division of level : 20” Lattitude Longitude: E78 09’ 52.13”
VERTICAL RNIER Horizontal Angl
“ (VE ) LEVEL orizontal Angle
o ANGLES &
.E 8
s 3| = 22|z &
i QU.A S &) a e Watch = o g g @ E o 8
ES|=| 58 |8 |23 . s |5 < |83 |§<| B
2 2 | & |8 |mlo| Tme | & | & | 5 |EE|%T| §
- - - Q s - - O = _4:
J: 2 & |go 12 8 |22 (5% 7
g |55 =
R.O 354.31.200 31.20 | 354.31.20
, : 196.8.40
L.0|22.17.20| 17.20 |22.17.20] 9 | 11 _8.8.54 190.40.00 40.00 | 190.40.00
196.28.50
L.O|21.56.20 | 56.20 [21.56.20| 9 | 11 8.9.53 191.20.20y 20.20 | 191.20.20
- 196.49.00
R.O 354.31.2(1 31.20 | 354.31.20
196.31.10
R.O 174.31.200 31.20 | 174.31.20 4
196.13.00
L.O|24.17.40| 17.40 [24.17.40| 11| 9 8.11.25 |10.44.20| 44.20| 10.44.20
196.33.30
L.0 | 23.55.40 _55.40 23.65.40( 11| 9 8.12.52 |11.25.20( 25.20 | 11.25.20
' 4 196.54.00
R.O 174.31.201 31.20 [ 174.31.20
Date Declination Equation of Refraction Parallax
time
01.12.1999 21 41 34.6 0 11 07.61 66 0.02 10.2 20 84
: 564.2 22.59
02.12.1999 21 50 58.8 0 10 45.02 67 0.02 16.5 25 8.1
2
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2.

Workout in a survey circuit traverse show up to area. - (25)

&G QaTO\SsILL (HETET lgmeuTen srrxi)‘,r_ﬁ]s#)em Uiy edeny seanfléseyl :

Station Angle Bearing Distance (Meters)
flenewiib Caremrd  gl(HeusGETaRTLD gy (B
0
A 85.55 : 104.4
B 180.00 74.4
C 80.39 173.0
D 258.41 11.6
E 97.24 42.6
F 98.55 117.00° 171.4
G 83.54 b7.4
H 186.01 67.0
I 178.53 56.2
d 189.38 24.0
Write a short notes : : - (6 x2=10)
(a) Co-ordinates

(b) Meridian

(¢) The axis of earth
(d) Zenith distance .
(e) Travers

Sy GHUY eues:

(B) D& gﬁqrﬁua;sﬁ
(<) Quifliquie

(@) wluller &sseT
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ABC is a triangle. AC = 320 meter, BC = 400 meter, AB = 660 meter. Find out the three
angles. : (10)

ABC aanp péGamemgde AC = 320 S, BC = 400 Bois AB = 660 BULiT, epergl
Caranriisenerbd sa&TH g &56 b,

Explain the rules of Town survey work in Initial and resurvey and details of blocks. - (10)
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6. Explain the records to be prepared after completion of Town Survey using Modern Survey
equipments.

(10)
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(a)
(b)
()
(d)
(e)

Write short notes :

S & B ACT Section 9(2)
S & B ACT Section 13
GT Station |
Taluk ‘A’ Register
Index Map '
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(@) P sareneu & erdvewer &L b Wflay 9(2)

(=) o Seraeas & errena s Lib 19fley 13

(@)

(FF)

(2)
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(5 x 2 = 10)



